OFFICE OF THE PRINCIPAL, GURU DAKSH GOVT. POLYTECHNIC, HISAR

Order No: 1113

Dated: 26/7/24

Sh. Jitender Kumar, Guest Faculty Textile Tech. is hereby assigned the duty of ATPO Textile Tech. in place of Sh. Rakesh Jindal, Lect. Textile Tech. with immediately effect.

Principal Guru Daksh Govt. Polytechnic,

Hisar Weer

Endst. No.:

Dated:

A copy of the above is forwarded to the following for information and necessary action:

- 1. TPO
- 2. HOD TT
- 3. Sh. Rakesh Jindal, Lect. TT
- 4. Sh. Jitender Kumar, GF TT

Principal Guru Daksh Govt. Polytechnic, Hisar

OFFICE OF THE PRINCIPAL GURU DAKSH GOVT. POLYTECHNIC, HISAR

Order No: 1112

Dated: 26/7/24

The following staff are hereby deputed for Admission Duty mentioned against their names during reporting by seat allotted candidates in 2nd Centralized Online counseling for **Diploma** (Engg) on 27.07.2024 (Saturday) for session 2024-25:-

S. N	Admission Duty	Staff Members	Venue
1	Document Verification Committee	 Arshad Jamal, Lect. ECE Karan Doda, Lect. Deepak Mehta, Lect 	
2	Online Admission Updation	Yash, Data operator	TPO Office
3	Online Admission Fee	Karan Singh	

Principal GD Govt. Polytechnic, Hisar

Endst No: GPH/2024/

Dated:

A Copy of the above is forwarded through whatsapp to the following for the information & necessary action:

- 1) Concerned HOD/O/I (Through whatsapp)
- 2) O/I Admission

3) DS

Principal
GD Govt. Polytechnic, Hisar

Electricity Bill Residences of Staff Colony of Guru Daksh Govt. Polytechnic, Hisar For the Month of: 01/04/2024 to 30/06/2024

0/01	For the Month of : 01/04/2024 to 30/06/2024 Date 26 7 24					
Sr No		Old Readin	Reading			Amoun
1	Ravinder Lect. (ECE)	39714	40022	308	8.1	2495
2	Satinder Rohilla from	19667	20727	1060	8.1	8586
3	Tijendera Singh q no 20 vacant 2.05.24	36540	37628	1088	8.1	8813
4	Tarun Sharma	29258	30360	1102	8.1	8926
	Pratibha Joshi	69922	71019	1097	8.1	8886
6	Ajay Jindal (vacant 30.05.2024)	16167	16759	592	8.1	4795
	Ashu App. Sci.	56645	57260	615	8.1	4982
	Kulbhushan	45524	46324	800	8.1	6480
	Sunil Dutt	58319	59000	681	8.1	5516
10	Karan Doda	47518	48333	815	8.1	6602
	Rakesh Jindal Vacant (24.06.2024)	22867	23727	860	6.1	6966
	Kanak Prabha	28457	29332	875	8.1	7088
13	Rajesh Kalra	31422	32262	840	8.1	6804
	atish Lect. Med. Elex.	32375	33173	798	8.1	6464
	injali Jaglan	31611	32183	572	8.1	4633
16	Deepak	33588	34182	594	8.1	4811 3200
	unil Soni (vacant 05.07.2024)	5026	5421	395	8.1	5265
	inesh Nain	38141	38791	650	8.1	4803
	nshu Lect FAA	28659	29252	593	8.1	
7(1)	rshad Jamal (q no. 21 vacant 7.06.2024) q no. 20 occupi 12.06.24	39720	40448	728	8.1	5897
21 va	cant	0	0	0	8.1	0
	ij Kumar DSO	19461	20156	695	8.1	5630
23 Az	ad Hooda 02.01.2024	614	1084	470	8.1	3807
	ay Pal	22224	22709	485	8.1	3929
	rin Verma	1088	1577	489	8.1	3961
26 Jail	oir Singh	21729	22189	460	8.1	3726
	deep Jangra	25094	25259	165	8.1	1337
28 Sol	an Lal	15783	16263	480	8.1	3888
29 Raj	esh Lamba	1223	1935	712	8.1	5767
	ok Saini	17271	17620	349	8.1	2827
31 Sus	hma Lect.	21105	21603	498	8.1	4034
	ok Kumar	24475	24965	490	8.1	3969
	leep Kumari	22892	23602	710	8.1	5751
	nder Punia	20882	21334	452	8.1	3661
5 Swee	ety Med	2209	2605	396	8.1	3208
6 Kant		7278	7726	448	8.1	3629
7 Vaca	nt	0	0	0	8.1	0
8 Priya		3553	3895	342	8.1	2770
) Jagdi:	sh Chander	3734	4082	348	8.1	2819
) Amit		5039	5214	175	8.1	1418
Sanja	y Siggar 10.04.2024	3584	4035	451	8.1	3653
Renu		17611	18061	450	8.1	3645
Sande	ep Clerk 12.04.2024	1252	1414	162	8.1	1312
Sukhb	ir Driver from	12792	13250	458	8.1	3710
	h App Sci	1707	2162	455	8.1	3686
Krishn		5728	5887	159	8.1	1288
Virbha		3456	3616	160	8.1	1296
	Mehta Vacant 10.06.2024	2293	2418	125	8.1	1013
Sube Si		10918	11088	170	8.1	1377
Karan I		11709	12107	398	8.1	3224
Sonia G		902	1064	162	8.1	1312
Joginde		10962	11352		8.1	3159
TOPHIE		10702				3232

		Total An	8.1	0 247331		
74	Vacant	0	0	0	8.1	0
73	Vacant	0	0	156	8.1	1264
	Dalbir Singh 20.12.2023	123	279	136	8.1	1102
	Sanjay Sweeper	251	387		8.1	3135
70	Rajender Security	610	997	387		0
69	Vacant	0	0	0	8.1	1239
68	Dasmi Dass	12994	13147	153	8.1	
67	Vacant	0	0	0	8.1	0
66	Mandeep Attendant	2022	2402	380	8.1	3078
65	Vijay Sweeper 15.04.2024	0	125	125	8.1	1012
64	Vinod DEO	1448	1570	122	8.1	988
63	Vacant	0	0	0	8.1	0
62	Ajay Attendant	722	875	153	8.1	1239
61	Vijendra Guard	1983	2368	385	8.1	3119
60	Balwant Singh Mess Hostel	1042	1191	149	8.1	1207
59	Vacant	0	0	0	8.1	0
58	Vacant	0	0	0	8.1	0
57	Jitender Sheoran GF	17375	17797	422	8.1	3418
56		13862	14272	410	8.1	3321
55		0	0	0	8.1	3159
54	Sunil Peon	1008	1398	390	[01]	2150

Principal G.D.G.P. Hisar

Endst. No: GPH/2024/ Copy to

1 Cashier

O/I Electrical Engg.
Bill Clerk
Incharge Electricity Bill 2 3 4

Principal G.D.G.P. Hisar

Office of the Principal, Guru Daksh Govt. Polytechnic, Hisar

Office Order No./GDGPH/2024/ 110

Dated: 26/7/24

A Committee of the following staff members is hereby constituted for the write off the items of Weaving Lab in the charge of Sh. Rakesh Jindal Lecturer Textile Technology.

- 1. Sh, Sunil Dutt Lect TD
- 2. Sh. Atul Kumar Lect. TT
- 3. Ms. Sushma Verma Lect. TT

Principal G.D.G.P, Hisan

Endst. No. GDGPH/2024/

Dated:

A copy of the above is forwarded to the following for information and necessary action.

1. HoD TT 2. Sh, Sunil Dutt Lect TD 3. Sh. Atul Kumar Lect. TT 4. Ms. Sushma Verma Lect. TT

Principal G.D.G.P, Hisar

OFFICE OF THE PRINCIPAL GURU DAKSH GOVT. POLYTECHNIC HISAR Dated: 26/7/24 O Order No: GDGPH/2024/ [] 6 9 Smt. Garima Ahlawat, O/I FD will perform the duties of ICC Chairperson/ Presiding officer with immediate effect in place of Smt. Kavita Rani, HOD FD as she is transferred to CBL GP Bhiwani. She is directed to take over the charge with immediate effect. GD Govt. Polytechnic Hisar Dated: Endst. No.: Copy of the same is forwarded for necessary action: L. Smt. Kavita Rani, HOD FD, CBLGP Bhiwani Principal GD Govt. Polytechnic Hisar Dated: Endst. No.: Copy of the same is forwarded for necessary action: 1 Smt. Garima Ahlawat O/I FD 2. O/I ICC 3. O/I AICTE 4, O/I NBA

5. O/I Website

Principal
GD Govt. Polytechnic
Hisar

OFFICE OF THE PRINCIPAL, GURU DAKSH GOVT. POLYTECHNIC, HISAR.

Order No. 1108

Dated: 26 7 34

Sh. Amit Kaushik, Clerk is hereby authorized to collect document verification report of Sh.

Rajender Kumar, Peon from Board of School Education Bhiwani.

Principal,

GDGPHisar.

Endst. No. /2024

Dated:

A copy of the above is forwarding to Secretary, Board of School Education Bhiwani for information and necessary action.

Principal,

GDGPHisar.

Endst. No. /2024

Dated:

A copy of the above is forwarding to following for information and necessary action.

- 1. DSO
- 2. Sh. Amit Kaushik, Clerk

Principal,
GDGPHisar.

OFFICE OF THE PRINCIPAL, GURU DAKSH GOVT. POLYTECHNIC, HISAR

Dated: -26/07/2024

All the activity coordinators (in coordination with convener) in Institution Innovation Council(IIC)

are directed to get their activity (as per IIC 6.0 calendar) completed and uploaded timely on IIC

Mr. Sandeep Biban, Lecturer, Civil & Mr. Vivek Jangid, Lecturer, FAA together will prepare the IIC

annual report (2023-24) and upload on the portal timely.

Principal GDGP, Hisar

Endst No./GDGPH/2024/

Dated: -A copy of the above is forwarded to the following for information and necessary action.

- 1. IIC President (Sh. Satinder)
- 2. Dr. Ajit Kumar, Lecturer, CE
- 3. Sh. Rajesh Gautam, Lecturer, ECE
- 4. Sh. Rakesh Jindal, Lecturer, TT
- 5. Sh. Vivek Jangid, Lecturer, FAA
- 6. Sh. Deepak, Lecturer, ME
- 7. Mr. Sandeep Biban, Lecturer, Civil
- 8. External Members / Members of IIC (Through Whatss app)

Principal GDGP, Hisar

OFFICE OF THE PRINCIPAL GURU DAKSH GOVT. POLYTECHNIC, HISAR

Order No: //06

Dated: 26/07/24

In reference to order no dated 25.07.2024, if any staff who has assigned admission duty is on any kind of leave /outside Govt. duty then concerned HOD/O/I may replace his/her admission duty with any other faculty from department under intimation to Admission Cell.

Principal GD Govt. Polytechnic, Hisav

Endst No: GPH/2024/

A Copy of the above is forwarded to the following for the information & necessary action:

- 1) All HOD/O/I (Through Whatsapp)
- 2) O/I Admission

Principal GD Govt. Polytechnic, Hisar